

## Some Identities of Frobenius-Type Eulerian Polynomials Arising from Umbral Calculus

**Taekyun Kim**

Department of Mathematics, Kwangwoon University  
Seoul 139-701, Republic of Korea  
[tkkim@kw.ac.kr](mailto:tkkim@kw.ac.kr)

**Dae San Kim**

Department of Mathematics, Sogang University  
Seoul 121-742, Republic of Korea  
[dskim@sogang.ac.kr](mailto:dskim@sogang.ac.kr)

**Seog-Hoon Rim**

Department of Mathematics Education  
Kyungpook National University  
Taegu 702-701, Republic of Korea  
[shrim@knu.ac.kr](mailto:shrim@knu.ac.kr)

**Dmitry V. Dolgy**

Hanrimwon, Kwangwoon University  
Seoul 139-701, Republic of Korea  
[dgekw2011@hanmail.net](mailto:dgekw2011@hanmail.net)

Copyright © 2013 Taekyun Kim et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

**Abstract.** In this paper, we study some properties of umbral calculus related with Frobenius-type Eulerian polynomials. From our results of this paper, we can derive many interesting identities with respect to Frobenius-type Eulerian polynomials.

**Mathematics Subject Classification:** 05A10, 05A19

**Keywords:** Bernoulli polynomial, Euler polynomial, Abel polynomial

1. INTRODUCTION

Let  $\mathbb{C}$  be the complex number field. Throughout this paper, we assume that  $\lambda \in \mathbb{C}$  with  $\lambda \neq 1$ . The *Frobenius-type Eulerian polynomials* of order  $r$  are given by

$$\left(\frac{1-\lambda}{e^{(\lambda-1)t}-\lambda}\right)^r e^{xt} = \sum_{n=0}^{\infty} A_n^{(r)}(x|\lambda) \frac{t^n}{n!}, \quad (\text{see [1,7,8]}) \tag{1.1}$$

In the special case,  $x = 0$ ,  $A_n^{(r)}(0|\lambda) = A_n^{(r)}(\lambda)$  are called the *Frobenius-type Eulerian numbers*. By (1.1), we easily get

$$A_n^{(r)}(x|\lambda) = \sum_{k=0}^{\infty} \binom{n}{k} A_k^{(r)}(\lambda) x^{n-k}, \quad (\text{see [1,3,9,11]}) \tag{1.2}$$

Let  $\mathbb{P}$  be the algebra of polynomials in the single variable  $x$  over  $\mathbb{C}$  and  $\mathbb{P}^*$  be the vector space of all linear functionals on  $\mathbb{P}$ . The action of the linear functional on a polynomial  $p(x)$  is denoted by  $\langle L|p(x) \rangle$ . The action  $\langle L|p(x) \rangle$  satisfies  $\langle L + M|p(x) \rangle = \langle L|p(x) \rangle + \langle M|p(x) \rangle$  and  $\langle cL|p(x) \rangle = c \langle L|p(x) \rangle$ , where  $c$  is a complex constant (see [10, 13, 14]).

Let  $\mathcal{F}$  denote the algebra of all formal power series in the single variable  $t$  over  $\mathbb{C}$  with

$$\mathcal{F} = \left\{ f(t) = \sum_{k=0}^{\infty} \frac{a_k}{k!} t^k \mid a_k \in \mathbb{C} \right\}. \tag{1.3}$$

For  $f(t) \in \mathcal{F}$ , we define a linear functional on  $\mathbb{P}$  by setting

$$\langle f(t)|x^n \rangle = a_n, \quad (n \geq 0) \quad (\text{see [10,13,14]}) \tag{1.4}$$

By (1.3) and (1.4), we get

$$\langle t^k|x^n \rangle = n! \delta_{n,k} \quad (n, k \geq 0), \tag{1.5}$$

where  $\delta_{n,k}$  is the Kronecker’s symbol.

Let  $f_L(t) = \sum_{k=0}^{\infty} \frac{\langle L|x^k \rangle}{k!} t^k$ . Then, by (1.5), we easily get  $\langle f_L(t)|x^n \rangle = \langle L|x^n \rangle$  and  $f_L(t) = L$ ,  $(n \geq 0)$ . The map  $L \mapsto f_L(t)$  is a vector space isomorphism from  $\mathbb{P}^*$  onto  $\mathcal{F}$ . Henceforth,  $\mathcal{F}$  is thought of as both a formal power series and a linear functional. We call  $\mathcal{F}$  the *umbral algebra*. The umbral calculus is the study of umbral algebra (see [5, 10, 13, 14]).

The order  $o(f(t))$  of the non-zero power series  $f(t)$  is the smallest integer  $k$  for which the coefficient of  $t^k$  does not vanish. If  $o(f(t)) = 1$ , then  $f(t)$  is called a *delta series*. If  $o(f(t)) = 0$ , then  $f(t)$  is called an *invertible series* (see [5, 10, 13, 14]). Let  $o(f(t)) = 1$  and  $o(g(t)) = 0$ . Then there exists a unique sequence  $S_n(x)$  of polynomials such that  $\langle g(t)f(t)^k|S_n(x) \rangle = n! \delta_{n,k}$ ,

where  $n, k \geq 0$ . The sequence  $S_n(x)$  is called *Sheffer sequence* for  $(g(t), f(t))$ , which is denoted by  $S_n(x) \sim (g(t), f(t))$  (see [10, 13, 14]). From (1.5), we note that  $\langle e^{yt} | p(x) \rangle = p(y)$ . Let us assume that  $f(t) \in \mathcal{F}$  and  $p(x) \in \mathbb{P}$ . Then, we have

$$f(t) = \sum_{k=0}^{\infty} \frac{\langle f(t) | x^k \rangle}{k!} t^k, \quad p(x) = \sum_{k=0}^{\infty} \frac{\langle t^k | p(x) \rangle}{k!} x^k \quad (\text{see [5,10,13,14]}). \quad (1.6)$$

From (1.6), we note that

$$p^{(k)}(0) = \langle t^k | p(x) \rangle, \quad \langle 1 | p^{(k)}(x) \rangle = p^{(k)}(0). \quad (1.7)$$

By (1.7), we get

$$t^k p(x) = p^{(k)}(x) = \frac{d^k p(x)}{dx^k}, \quad (k \geq 0), \quad (\text{see [5,10,13,14]}). \quad (1.8)$$

Let  $S_n(x) \sim (g(t), f(t))$ . Then we have

$$\frac{1}{g(\bar{f}(t))} e^{y\bar{f}(t)} = \sum_{k=0}^{\infty} \frac{S_k(y)}{k!} t^k, \quad \text{for all } y \in \mathbb{C}, \quad (1.9)$$

where  $\bar{f}(t)$  is the compositional inverse of  $f(t)$  (see [5, 10, 13, 14]).

The purpose of this paper is to study some properties of Frobenius-type Eulerian polynomials arising from umbral calculus. By using our results of this paper, we can obtain many interesting identities of Frobenius-type Eulerian polynomials.

## 2. FROBENIUS-TYPE EULERIAN POLYNOMIALS AND UMBRAL CALCULUS

In this section, we assume that  $r \in \mathbb{Z}$ . From (1.1) and (1.9), we note that

$$A_n^{(r)}(x|\lambda) \sim \left( \left( \frac{e^{t(\lambda-1)} - \lambda}{1 - \lambda} \right)^r, t \right). \quad (2.1)$$

Let  $\mathbb{P}_n = \{p(x) \in \mathbb{C}[x] \mid \deg p(x) \leq n\}$ . Then  $\mathbb{P}_n$  is the  $(n+1)$ -dimensional vector space over  $\mathbb{C}$ . It is easy to show that  $\{A_0^{(r)}(x|\lambda), A_1^{(r)}(x|\lambda), \dots, A_n^{(r)}(x|\lambda)\}$  is a good basis for  $\mathbb{P}_n$  (see [1-17]).

For  $p(x) \in \mathbb{P}_n$ , let us assume that

$$p(x) = \sum_{k=0}^n c_k A_k^{(r)}(x|\lambda), \quad (n \geq 0). \quad (2.2)$$

Then, by (2.1) and (2.2), we get

$$\begin{aligned} \left\langle \left( \frac{e^{t(\lambda-1)} - \lambda}{1 - \lambda} \right)^r t^k \middle| p(x) \right\rangle &= \sum_{l=0}^n c_l \left\langle \left( \frac{e^{t(\lambda-1)} - \lambda}{1 - \lambda} \right)^r t^k \middle| A_l^{(r)}(x|\lambda) \right\rangle \\ &= \sum_{l=0}^n c_l l! \delta_{l,k} = k! c_k. \end{aligned} \quad (2.3)$$

Thus, from (2.3), we have

$$\begin{aligned}
 c_k &= \frac{1}{k!} \left\langle \left( \frac{e^{t(\lambda-1)} - \lambda}{1 - \lambda} \right)^r t^k \middle| p(x) \right\rangle = \frac{1}{k!} \left\langle \left( \frac{e^{t(\lambda-1)} - \lambda}{1 - \lambda} \right)^r \middle| D^k p(x) \right\rangle \\
 &= \frac{1}{k!(1 - \lambda)^r} \sum_{j=0}^r \binom{r}{j} (-\lambda)^{r-j} \langle e^{j(\lambda-1)t} \middle| D^k p(x) \rangle \\
 &= \frac{1}{k!(1 - \lambda)^r} \sum_{j=0}^r \binom{r}{j} (-\lambda)^{r-j} \langle t^0 \middle| D^k p(x + j(\lambda - 1)) \rangle.
 \end{aligned} \tag{2.4}$$

Therefore, by (2.2) and (2.4), we obtain the following theorem.

**Theorem 2.1.** For  $r \in \mathbb{Z}_+$ ,  $p(x) \in \mathbb{P}_n$ , let

$$p(x) = \sum_{k=0}^n c_k A_k^{(r)}(x|\lambda).$$

Then we have

$$c_k = \frac{1}{k!(1 - \lambda)^r} \sum_{j=0}^r \binom{r}{j} (-\lambda)^{r-j} D^k p(j(\lambda - 1)),$$

where  $Dp(x) = \frac{dp(x)}{dx}$ .

By Theorem 2.1, we get

$$p(x) = \frac{1}{(1 - \lambda)^r} \sum_{k=0}^n \left\{ \sum_{j=0}^r \frac{1}{k!} \binom{r}{j} (-\lambda)^{r-j} D^k p(j(\lambda - 1)) \right\} A_k^{(r)}(x|\lambda). \tag{2.5}$$

Let us define  $\lambda$ -difference operator  $\Delta_\lambda$  as follows:

$$\Delta_\lambda f(x) = f(x + \lambda - 1) - \lambda f(x), \tag{2.6}$$

and

$$T_\lambda(f) = \frac{1}{1 - \lambda} \Delta_\lambda f(x) = \frac{1}{1 - \lambda} \{f(x + \lambda - 1) - \lambda f(x)\}. \tag{2.7}$$

From (2.7), we have

$$T_\lambda(A_n^{(r)}(x|\lambda)) = \frac{1}{1 - \lambda} \{A_n^{(r)}(x + \lambda - 1|\lambda) - \lambda A_n^{(r)}(x|\lambda)\}. \tag{2.8}$$

By (1.1), we easily get

$$\begin{aligned}
 &\sum_{n=0}^{\infty} \{A_n^{(r)}(x + \lambda - 1|\lambda) - \lambda A_n^{(r)}(x|\lambda)\} \frac{t^n}{n!} \\
 &= \left( \frac{1 - \lambda}{e^{t(\lambda-1)} - \lambda} \right)^r e^{(x+\lambda-1)t} - \lambda \left( \frac{1 - \lambda}{e^{t(\lambda-1)} - \lambda} \right)^r e^{xt} \\
 &= (1 - \lambda) \left( \frac{1 - \lambda}{e^{t(\lambda-1)} - \lambda} \right)^{r-1} e^{xt} = (1 - \lambda) \sum_{n=0}^{\infty} A_n^{(r-1)}(x|\lambda) \frac{t^n}{n!}.
 \end{aligned} \tag{2.9}$$

Thus, by (2.9), we see that

$$T_\lambda (A_n^{(r)}(x|\lambda)) = \frac{1}{1-\lambda} \{A_n^{(r)}(x + \lambda - 1|\lambda) - \lambda A_n^{(r)}(x|\lambda)\} = A_n^{(r-1)}(x|\lambda). \tag{2.10}$$

From (2.10), we have

$$T_\lambda^r (A_n^{(r)}(x|\lambda)) = T_\lambda^{r-1} (A_n^{(r-1)}(x|\lambda)) = \dots = A_n^{(0)}(x|\lambda) = x^n. \tag{2.11}$$

By (2.11), we get

$$T_\lambda^r (x^n) = T_\lambda^r (A_n^{(0)}(x|\lambda)) = A_n^{(-r)}(x|\lambda) = T_\lambda^{2r} (A_n^{(r)}(x|\lambda)). \tag{2.12}$$

For  $s \in \mathbb{Z}_+$ , from (2.12), we note that

$$T_\lambda^s (A_n^{(r)}(x|\lambda)) = A_n^{(r-s)}(x|\lambda). \tag{2.13}$$

On the other hand, by (2.13), we get

$$\begin{aligned} T_\lambda^s (A_n^{(r)}(x|\lambda)) &= \left(\frac{e^{t(\lambda-1)} - \lambda}{1-\lambda}\right)^s (A_n^{(r)}(x|\lambda)) \\ &= \frac{1}{(1-\lambda)^s} \left( (1-\lambda) + \sum_{k=1}^\infty \frac{(\lambda-1)^k t^k}{k!} \right)^s A_n^{(r)}(x|\lambda) \\ &= \sum_{m=0}^s \frac{\binom{s}{m}}{(1-\lambda)^m} \sum_{l=m}^\infty \left( \sum_{k_1+\dots+k_m=l} \frac{1}{k_1! \dots k_m!} \right) t^l (\lambda-1)^l A_n^{(r)}(x|\lambda) \\ &= \sum_{m=0}^s \frac{\binom{s}{m}}{(1-\lambda)^m} \sum_{l=m}^\infty \frac{(\lambda-1)^l}{l!} \sum_{k_1+\dots+k_m=l, k_i \geq 1} \binom{l}{k_1, \dots, k_m} D^l A_n^{(r)}(x|\lambda) \\ &= \sum_{m=0}^{\min\{s,n\}} \frac{\binom{s}{m}}{(1-\lambda)^m} \sum_{l=m}^n \binom{n}{l} (\lambda-1)^l \sum_{k_1+\dots+k_m=l, k_i \geq 1} \binom{l}{k_1, \dots, k_m} A_{n-l}^{(r)}(x|\lambda) \\ &= \sum_{l=0}^{\min\{s,n\}} \binom{n}{l} \sum_{m=0}^l \frac{\binom{s}{m}}{(1-\lambda)^{m-l}} \sum_{k_1+\dots+k_m=l, k_i \geq 1} \binom{l}{k_1, \dots, k_m} A_{n-l}^{(r)}(x|\lambda) \\ &\quad + \sum_{l=\min\{s,n\}+1}^n \binom{n}{l} \sum_{m=0}^{\min\{s,n\}} \frac{\binom{s}{m}}{(1-\lambda)^{m-l}} \sum_{k_1+\dots+k_m=l, k_i \geq 1} \binom{l}{k_1, \dots, k_m} A_{n-l}^{(r)}(x|\lambda). \end{aligned} \tag{2.14}$$

Therefore, by (2.13) and (2.14), we obtain the following theorem.

**Theorem 2.2.** For  $r, s \in \mathbb{Z}_+$ , we have

$$\begin{aligned}
 A_n^{(r-s)}(x|\lambda) &= \sum_{l=0}^{\min\{s,n\}} \sum_{m=0}^l \sum_{k_1+\dots+k_m=l, k_i \geq 1} \frac{\binom{n}{l} \binom{s}{m} \binom{l}{k_1, \dots, k_m}}{(1-\lambda)^{m-l}} A_{n-l}^{(r)}(x|\lambda) \\
 &+ \sum_{l=\min\{s,n\}+1}^n \sum_{m=0}^{\min\{s,n\}} \sum_{k_1+\dots+k_m=l, k_i \geq 1} \frac{\binom{n}{l} \binom{s}{m} \binom{l}{k_1, \dots, k_m}}{(1-\lambda)^{m-l}} A_{n-l}^{(r)}(x|\lambda).
 \end{aligned}$$

Let us take  $r = s$ . Then, by Theorem 2.2, we get

$$\begin{aligned}
 x^n &= \sum_{l=0}^{\min\{r,n\}} \sum_{m=0}^l \sum_{k_1+\dots+k_m=l, k_i \geq 1} \frac{\binom{l}{k_1, \dots, k_m} \binom{n}{l} \binom{r}{m}}{(1-\lambda)^{m-l}} A_{n-l}^{(r)}(x|\lambda) \\
 &+ \sum_{l=\min\{r,n\}+1}^n \sum_{m=0}^{\min\{r,n\}} \sum_{k_1+\dots+k_m=l, k_i \geq 1} \frac{\binom{l}{k_1, \dots, k_m} \binom{r}{m} \binom{n}{l}}{(1-\lambda)^{m-l}} A_{n-l}^{(r)}(x|\lambda).
 \end{aligned}$$

From (2.6), we can derive the following equation:

$$\Delta_\lambda^n f(0) = \sum_{k=0}^n \binom{n}{k} (-\lambda)^{n-k} f((\lambda-1)k). \tag{2.15}$$

Let  $s = 2r$ . Then, by (2.12) and Theorem 2.2, we get

$$\begin{aligned}
 T_\lambda^r(x^n) &= A_n^{(-r)}(x|\lambda) = T_\lambda^{2r}(A_n^{(r)}(x|\lambda)) \\
 &= \sum_{l=0}^{\min\{2r,n\}} \sum_{m=0}^l \sum_{k_1+\dots+k_m=l, k_i \geq 1} \frac{\binom{l}{k_1, \dots, k_m} \binom{n}{l} \binom{2r}{m}}{(1-\lambda)^{m-l}} A_{n-l}^{(r)}(x|\lambda) \\
 &+ \sum_{l=\min\{2r,n\}+1}^n \sum_{m=0}^{\min\{2r,n\}} \sum_{k_1+\dots+k_m=l, k_i \geq 1} \frac{\binom{l}{k_1, \dots, k_m} \binom{n}{l} \binom{2r}{m}}{(1-\lambda)^{m-l}} A_{n-l}^{(r)}(x|\lambda).
 \end{aligned} \tag{2.16}$$

By (2.7), we easily get

$$T_\lambda^r(x^n) = \frac{\Delta_\lambda^r x^n}{(1-\lambda)^r} = \sum_{j=0}^r \binom{r}{j} (-\lambda)^{r-j} (x + (\lambda-1)j)^n. \tag{2.17}$$

For  $n, k \geq 0$ , let us define  $\lambda$ -analogue of the Stirling number of the second kind as follows:

$$S_2(n, k|\lambda) = \frac{1}{k!} \sum_{j=0}^k \binom{k}{j} (-\lambda)^{k-j} j^n. \tag{2.18}$$

From (2.18), we note that  $S_2(n, k|1) = S_2(n, k)$  where  $S_2(n, k)$  is the Stirling number of the second kind. Therefore, by (2.16), (2.17) and (2.18), we obtain the following theorem.

**Theorem 2.3.** For  $n, k \geq 0$ , we have

$$\begin{aligned} & \sum_{j=0}^r \binom{r}{j} (-\lambda)^{r-j} (x + (\lambda - 1)j)^n \\ &= \sum_{l=0}^{\min\{2r, n\}} \sum_{m=0}^l \sum_{k_1 + \dots + k_m = l, k_i \geq 1} \frac{\binom{2r}{m} \binom{l}{k_1, \dots, k_m} \binom{n}{l}}{(1 - \lambda)^{m-l}} A_{n-l}^{(r)}(x|\lambda) \\ &+ \sum_{l=\min\{2r, n\}+1}^n \sum_{m=0}^{\min\{2r, n\}} \sum_{k_1 + \dots + k_m = l, k_i \geq 1} \frac{\binom{l}{k_1, \dots, k_m} \binom{n}{l} \binom{2r}{m}}{(1 - \lambda)^{m-l}} A_{n-l}^{(r)}(x|\lambda). \end{aligned}$$

Moreover,

$$\begin{aligned} & (\lambda - 1)^n S_2(n, r|\lambda) \\ &= \frac{1}{r!} \sum_{l=0}^{\min\{2r, n\}} \sum_{m=0}^l \sum_{k_1 + \dots + k_m = l, k_i \geq 1} \frac{\binom{l}{k_1, \dots, k_m} \binom{n}{l} \binom{2r}{m}}{(1 - \lambda)^{m-l}} A_{n-l}^{(r)}(\lambda) \\ &+ \frac{1}{r!} \sum_{l=\min\{2r, n\}+1}^n \sum_{m=0}^{\min\{2r, n\}} \sum_{k_1 + \dots + k_m = l, k_i \geq 1} \frac{\binom{l}{k_1, \dots, k_m} \binom{n}{l} \binom{2r}{m}}{(1 - \lambda)^{m-l}} A_{n-l}^{(r)}(\lambda). \end{aligned}$$

#### REFERENCES

- [1] S. Araci and M. Acikgoz, *A note on the Frobenius-Euler numbers and polynomials associated with Bernstein polynomials*, Adv. Stud. Contemp. Math., **22** (2012), no. 3, 399-406.
- [2] S. Araci, *Novel identities for  $q$ -Genocchi numbers and polynomials*, J. Funct. Spaces Appl., 2012, Art. ID 214961, 13 pp.
- [3] L. Carlitz, *Eulerian numbers and polynomials of higher order*, Duke Math. J., **27** (1960), 401-423.
- [4] L. Carlitz, *Eulerian numbers and polynomials of higher order*, Math. Mag., **32** 1958/1959, 274-260.
- [5] R. Dere and Y. Simsek, *Applications of umbral algebra to some special polynomials*, Adv. Stud. Contemp. Math., **22** (2012), no. 3, 433-438.
- [6] T. Ernst, *Examples of a  $q$ -umbral calculus*, Adv. Stud. Contemp. Math., **16** (2008), no. 1, 1-22.
- [7] J. Haglund and M. Visontai, *Stable multivariate Eulerian polynomials and generalized Stirling permutations*, European J. Combin., **33** (2012), no. 4, 477-487.
- [8] D. S. Kim, T. Kim, S. H. Rim, *Frobenius-type Eulerian polynomials*, Proc. Jangjeon Math. Soc., **16** (2013), no. 2, 156-163.
- [9] D. S. Kim, T. Kim, Y. H. Kim and D. V. Dolgy, *A note on Eulerian polynomials associated with Bernoulli and Euler numbers and polynomials*, Adv. Stud. Contemp. Math. **22** (2012), no. 3, 379-389.
- [10] D. S. Kim and T. Kim, *Some identities of Frobenius-Euler polynomials arising from umbral calculus*, Adv. Difference Equ., 2012, 2012:196.
- [11] T. Kim, *Some identities on the  $q$ -Euler polynomials of higher order and  $q$ -Stirling numbers by the fermionic  $p$ -adic integral on  $\mathbb{Z}_p$* , Russ. J. Math. Phys., **16** (2009), no. 4, 484-491.

- [12] A. K. Kwániewski, *More on the Bernoulli-Taylor formula for extended umbral calculus*, Adv. Appl. Clifford Algebr, **16** (2006), no. 1, 29-39.
- [13] S. Roman, *More on the umbral calculus, with emphasis on the  $q$ -umbral calculus*, J. Math. Anal. Appl., **107** (1985), 222-254.
- [14] S. Roman, *The umbral calculus*, Dover Publ. Inc. New York, 2005.
- [15] C. Ryoo, *Some relations between twisted  $q$ -Euler numbers and Bernstein polynomials*, Adv. Stud. Contemp. Math. **21** (2011), no. 2, 217-223.
- [16] C. Ryoo, *A note on the weighted  $q$ -Euler numbers and polynomials*, Adv. Stud. Contemp. Math. **21** (2011), no. 1, 47-54.
- [17] Y. Simsek, *Generating functions of the twisted Bernoulli numbers and polynomials associated with their interpolation functions*, Adv. Stud. Contemp. Math. **16** (2008), no. 2, 251-278.

**Received: September 1, 2013**